
Q.1 उस िवक� का चयन कर�  जो तीसरे श� से उसी �कार संबंिधत है िजस �कार दूसरा श� पहले श�
से संबंिधत है।
(श�ो ंको अथ�पूण� िहंदी श�ो ंके �प म� माना जाना चािहए और श� म� अ�रो ंकी सं�ा / �ंजनो/ं
�रो ंकी सं�ा के आधार पर एक-दूसरे से संबंिधत नही ंिकया जाना चािहए)
ताजमहल: भारत :: एिफल टॉवर: ?

Ans 1. �स

2. जापान

3. �ांस

4. इं��ड

Question ID : 630680417177
Option 1 ID : 6306801627473
Option 2 ID : 6306801627471
Option 3 ID : 6306801627472
Option 4 ID : 6306801627474

Status : Answered
Chosen Option : 4

Q.2 िदए गए कथनो ंऔर िन�ष� को �ानपूव�क पढ़�। यह मानते �ए िक कथनो ंम� दी गई जानकारी सही है,
भले ही वह सामा� �प से �ात त�ो ंसे िभ� लगे, िनण�य कर�  िक कौन-सा/से िन�ष� िदए गए कथनो ं
का तािक� क �प से अनुसरण करता है/करते ह�।
कथन:
सभी प�ा गोभी, चुकंदर ह�।
कुछ प�ा गोभी, गाजर ह�।
िन�ष�:
I. कुछ चुकंदर, प�ा गोभी ह�।
II. कुछ चुकंदर, गाजर ह�।

Ans 1. केवल िन�ष� I अनुसरण करता है।

2. केवल िन�ष� II अनुसरण करता है।

3. िन�ष� I और II दोनो ंअनुसरण करते ह�।

4. िन�ष� I और II म� से कोई भी अनुसरण नही ंकरता है।

Question ID : 630680417236
Option 1 ID : 6306801627707
Option 2 ID : 6306801627708
Option 3 ID : 6306801627709
Option 4 ID : 6306801627710

Status : Answered
Chosen Option : 3
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Q.3 िदए गए िवक�ो ंम� से अ�रो ंके उस संयोजन का चयन कीिजए िजसे दी गई �ंृखला के �र� � थानो ंम�
�िमक �प से रखे जाने पर �ंृखला पूरी हो जाएगी।
T_K_NTA_EN_A_E_T_KE_

Ans 1.  EATKNANT

2. AEKTKNAN

3.  ATKETAKN

4. KETANAKT

Question ID : 630680416631
Option 1 ID : 6306801625290
Option 2 ID : 6306801625287
Option 3 ID : 6306801625289
Option 4 ID : 6306801625288

Status : Answered
Chosen Option : 2

Q.4

Ans

1. 

2. 

3. 

4. 

Question ID : 630680104587
Option 1 ID : 630680406530
Option 2 ID : 630680406529
Option 3 ID : 630680406527
Option 4 ID : 630680406528

Status : Answered
Chosen Option : 2
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Q.5 एक िनि�त कूट भाषा म�, 'NODUS' को 'KJUDF' िलखा जाता है और 'PILLOW' को 'IPMMJB' िलखा
जाता है। उस भाषा म� 'NAVEL' को िकस �कार िलखा जाएगा?

Ans 1. KXTCM

2. KXCMT

3. KXCTM

4. KXMCT

Question ID : 630680416142
Option 1 ID : 6306801623333
Option 2 ID : 6306801623331
Option 3 ID : 6306801623332
Option 4 ID : 6306801623334

Status : Answered
Chosen Option : 3

Q.6 एक पासे के अलग-अलग फलको ंपर छ: सं�ाएँ 1, 2, 3, 4, 5 और 6 िलखी गई ह�। िदए गए िच� म� इस
पासे की दो ��थितयाँ दशा�ई गई ह�। 4 दशा�ने वाले फलक के िवपरीत वाले फलक पर कौन-सी सं�ा
होगी?

Ans 1. 1

2. 5

3. 2

4. 6

Question ID : 630680187285
Option 1 ID : 630680726089
Option 2 ID : 630680726091
Option 3 ID : 630680726092
Option 4 ID : 630680726090

Status : Answered
Chosen Option : 4

Q.7 िदए गए िवक�ो ंम� से उस सं�ा का चयन कर�  जो िन�िल�खत �ंृखला म� �� िच� (?) के � थान पर आ
सकती है।
1, 3, 9, 27, ?

Ans 1. 54

2. 81

3. 63

4. 243

Question ID : 630680411943
Option 1 ID : 6306801606608
Option 2 ID : 6306801606610
Option 3 ID : 6306801606607
Option 4 ID : 6306801606609

Status : Answered
Chosen Option : 2
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Q.8 उस सही िवक� का चयन कीिजए, जो िन�िल�खत श�ो ंकी �व�था को तािक� क और अथ�पूण� �म म�
दशा�ता है।
1. माइ�ो
2. हे�ो
3. नैनो
4. िकलो
5. िमली

Ans 1. 3, 1, 2, 5, 4

2. 1, 3, 5, 2, 4

3. 3, 1, 5, 2, 4

4. 3, 1, 5, 4, 2

Question ID : 630680416435
Option 1 ID : 6306801624503
Option 2 ID : 6306801624506
Option 3 ID : 6306801624504
Option 4 ID : 6306801624505

Status : Answered
Chosen Option : 1
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Q.9 उस िवक� आकृित का चयन कर�  िजसम� दी गई आकृित उसके अंश �प म� सि�िहत है (घुमाने की
अनुमित नही ंहै)।

Ans

1. 

2. 

3. 

4. 

Question ID : 630680302882
Option 1 ID : 6306801178192
Option 2 ID : 6306801178193
Option 3 ID : 6306801178191
Option 4 ID : 6306801178190

Status : Answered
Chosen Option : 3
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Q.10 उस िवक� का चयन कर�  जो उन अ�रो ंका िन�पण करता है, िज�� नीचे िदए गए �र� �थानो ंम� बाएं
से दाएं �िमक �प से रखे जाने पर अ�र �ंृखला पूरी हो जाएगी।
_ A _ J _ _ J _ A _ _ A

Ans 1. JAAJAJJ

2. JAAAAJA

3. AAJJAAA

4. AJJAAJJ

Question ID : 630680416336
Option 1 ID : 6306801624108
Option 2 ID : 6306801624109
Option 3 ID : 6306801624110
Option 4 ID : 6306801624107

Status : Answered
Chosen Option : 4

Q.11 एक िनि�त कूट भाषा म�, ‘HABITAT’ को 0101010 के �प म� कूटब� िकया जाता है और
‘UNDERNEATH’ को 1001001100 के �प म� कूटब� िकया जाता है। इसी कूट भाषा म�
‘POSSIBLE’ को िकस �कार से कूटब� िकया जाएगा?

Ans 1. 10110001

2. 01001001

3. 01010011

4. 10110110

Question ID : 630680416810
Option 1 ID : 6306801626006
Option 2 ID : 6306801626004
Option 3 ID : 6306801626003
Option 4 ID : 6306801626005

Status : Answered
Chosen Option : 2

Q.12 उस िवक� का चयन कीिजए जो तीसरे श� से उसी �कार संबंिधत है िजस �कार दूसरा श� पहले
श� से संबंिधत है।
(श�ो ंको अथ�पूण� िहंदी श�ो ंके �प म� माना जाना चािहए और श� म� अ�रो/ं �ंजनो/ं�रो ंकी सं�ा
के आधार पर वे एक दूसरे से संबंिधत नही ंिकए जाने चािहए)
माला : हार :: घड़ी : ?

Ans 1. सहायक

2. समय

3. घड़ी

4. �ेसलेट

Question ID : 630680417318
Option 1 ID : 6306801628038
Option 2 ID : 6306801628035
Option 3 ID : 6306801628036
Option 4 ID : 6306801628037

Status : Answered
Chosen Option : 2
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Q.13 ‘A & B’ का अथ� है िक ‘A, B की प�ी है’,
‘A × B’ का अथ� है िक ‘A, B की बहन है’,
‘A $ B’ का अथ� है िक ‘A, B का भाई है’,
‘A – B’ का अथ� है िक ‘A, B का पु� है’,
‘A + B’ का अथ� है िक ‘A, B की माता है’,
‘A ÷ B’ का अथ� है िक ‘A , B का पित है’.
यिद ‘B – A ÷ R + S & M’है, तो B का S से �ा संबंध है?

Ans 1. चचेरा भाई

2. चाचा

3. भाई

4. बेटा

Question ID : 63068085556
Option 1 ID : 630680331729
Option 2 ID : 630680331731
Option 3 ID : 630680331730
Option 4 ID : 630680331728

Status : Answered
Chosen Option : 3

Q.14 ��ेक समु�य की सं�ाएँ एक िनि�त तरीके से एक दूसरे से संबंिधत ह�।
(12, 18, 3), (20, 30, 5), (36, 54, ?)
पहले दो समु� चयो ंम� सं�ाओ ंके बीच संबंध के आधार पर, उस सं�ा का चयन कीिजए जो तीसरे
समु� चय म� �� िच� (?) को �ित�थािपत कर सके।

Ans 1. 7

2. 6

3. 9

4. 8

Question ID : 63068053281
Option 1 ID : 630680205226
Option 2 ID : 630680205228
Option 3 ID : 630680205229
Option 4 ID : 630680205227

Status : Answered
Chosen Option : 3

Q.15 उस सही िवक� का चयन कर�  जो िन�िल�खत श�ो ंकी �व�था को तािक� क और अथ�पूण� �म म�
दशा�ता है।
1. नदी
2. बरसाती पोखर (Puddle)
3. तालाब (Pond)
4. झील
5. महासागर

Ans 1. 5, 4, 1, 3, 2

2. 5, 4, 3, 1, 2

3. 5, 3, 4, 1, 2

4. 5, 1, 4, 3, 2

Question ID : 630680416440
Option 1 ID : 6306801624526
Option 2 ID : 6306801624523
Option 3 ID : 6306801624524
Option 4 ID : 6306801624525

Status : Answered
Chosen Option : 4
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Q.16 दी गई �ंृखला को पूरा करने के िलए कौन सा अ�र समूह �� िच� (?) के � थान पर आ सकता है?
HDZH, IFWL, ?, KJQT, LLNX

Ans 1. JHUT

2. JITS

3. JHTP

4. JJSP

Question ID : 630680855885
Option 1 ID : 6306803352244
Option 2 ID : 6306803352243
Option 3 ID : 6306803352242
Option 4 ID : 6306803352245

Status : Answered
Chosen Option : 3

Q.17 उस िवक� का चयन कीिजए, िजसका पाँचव� अ�र-समूह से ठीक वही संबंध है, जो संबंध दूसरे अ�र-
समूह का पहले अ�र-समूह से और वही संबंध चौथे अ�र-समूह का तीसरे अ�र-समूह से है।
COLOUR : CUOLOR :: TRIBAL : TABIRL :: FINGER : ?

Ans 1. FNIEGR

2. FEGNIR

3. FGEINR

4. FEGINR

Question ID : 630680416968
Option 1 ID : 6306801626638
Option 2 ID : 6306801626636
Option 3 ID : 6306801626637
Option 4 ID : 6306801626635

Status : Answered
Chosen Option : 2

Q.18 एक िन�� चत कूट भाषा म� 'DEVINE' को '53' और 'HANG' को '26' के �प म� िलखा जाता है। उसी
भाषा म� 'BLEND' को कैसे िलखा जाएगा?

Ans 1. 37

2. 32

3. 45

4. 26

Question ID : 630680417397
Option 1 ID : 6306801628353
Option 2 ID : 6306801628352
Option 3 ID : 6306801628351
Option 4 ID : 6306801628354

Status : Answered
Chosen Option : 2
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Q.19 एक िनि�त कूट भाषा म�,
‘A + B’ का अथ� है ‘A, B का पित है'
‘A – B’ का अथ� है ‘A, B की बहन है'
‘A × B’ का अथ� है ‘A, B का िपता है'
‘A ÷ B’ का अथ� है ‘A, B की माता है'
उपरो� के आधार पर, यिद ‘W + Y − Z ÷ X + P’ है, तो P का Z से � या संबंध है?

Ans 1. माता

2. बहन

3. ब�

4. पु�ी

Question ID : 63068075706
Option 1 ID : 630680292946
Option 2 ID : 630680292948
Option 3 ID : 630680292947
Option 4 ID : 630680292945

Status : Answered
Chosen Option : 3

Q.20 िन�िल�खत म� से कौन-सा पद दी गई �ंखला म� ��-िच� (?) का �थान लेगा?

RDJW, SBMS, TZPO, UXSK, ?
Ans 1. VXYF

2. VWUG

3. VUWH

4. VVVG

Question ID : 630680855887
Option 1 ID : 6306803352251
Option 2 ID : 6306803352250
Option 3 ID : 6306803352252
Option 4 ID : 6306803352253

Status : Answered
Chosen Option : 4

Q.21 यिद ‘+’ और ‘–’ को आपस म� बदल िदया जाए और '×' और '÷' को आपस म� बदल िदया जाए, तो
िन�िल�खत समीकरण म� ��-िच� (?) के �थान पर �ा मान आएगा?

98 × 14 + 24 − 12 ÷ 8 = ?
Ans 1. 79

2. 81

3. 63

4. 93

Question ID : 630680344186
Option 1 ID : 6306801339058
Option 2 ID : 6306801339059
Option 3 ID : 6306801339057
Option 4 ID : 6306801339060

Status : Answered
Chosen Option : 1
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Q.22 एक िनि�त कूट भाषा म�,
A + B का अथ� है 'A, B की माता है',
A – B का अथ� है 'A, B का भाई है',
A × B का अथ� है 'A, B की प�ी है',
A ÷ B का अथ� है 'A, B का िपता है'।
उपयु�� के आधार पर, यिद ‘Q ÷ R + P – S ÷ T’ है, तो R, T से िकस �कार संबंिधत है?

Ans 1. पोती

2. दादी

3. नाना

4. पोता

Question ID : 630680216617
Option 1 ID : 630680840434
Option 2 ID : 630680840431
Option 3 ID : 630680840432
Option 4 ID : 630680840433

Status : Answered
Chosen Option : 2
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Q.23 जब दप�ण को िन� न िच� के अनुसार रेखा MN पर रखा जाता है, तो दी गई आकृित का दप�ण म� िनिम�त
सही �ितिबंब का चयन कीिजए।

Ans

1. 

2. 

3. 

4. 

Question ID : 630680281028
Option 1 ID : 6306801092349
Option 2 ID : 6306801092350
Option 3 ID : 6306801092348
Option 4 ID : 6306801092347

Status : Answered
Chosen Option : 2
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Q.24 उस सही िवक� का चयन कर�  जो िन�िल�खत श�ो ंकी �व�था को तािक� क और अथ�पूण� �म म�
दशा�ता है।
1. सा�ा�ार
2. आवेदन
3. चयन
4. परी�ा
5. िनयु��

Ans 1. 2, 4, 1, 3, 5

2. 3, 4, 1, 5, 2

3. 4, 2, 3, 5, 1

4. 5, 1, 2, 3, 4

Question ID : 630680416437
Option 1 ID : 6306801624514
Option 2 ID : 6306801624511
Option 3 ID : 6306801624513
Option 4 ID : 6306801624512

Status : Answered
Chosen Option : 1

Q.25 एक िनि�त कूट भाषा म�, 'CASUAL' को 'SACLAU' के �प म� िलखा जाता है और 'DESIRE' को
'SEDERI' के �प म� िलखा जाता है। उसी भाषा म� 'FALLEN' को कैसे िलखा जाएगा?

Ans 1. NFELLA

2. NELLAF

3. NELALF

4. LAFNEL

Question ID : 630680172168
Option 1 ID : 630680667109
Option 2 ID : 630680667110
Option 3 ID : 630680667108
Option 4 ID : 630680667111

Status : Answered
Chosen Option : 4

Q.1 चौरी-चौरा कांड के बाद महा�ा गांधी ने असहयोग आंदोलन को बंद करने का आ�ान िकया। चौरी-चौरा
िन�िल�खत म� से कहाँ ��थत है?

Ans 1. लखनऊ

2. गोरखपुर

3. मेरठ

4. मथुरा

Question ID : 630680412605
Option 1 ID : 6306801609243
Option 2 ID : 6306801609246
Option 3 ID : 6306801609244
Option 4 ID : 6306801609245

Status : Answered
Chosen Option : 2

Section : General Awareness
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Q.2 देश म� पहली बार, िन�िल�खत म� से िकस रा� सरकार ने '�ि� के अिधकार' के उ�े� से �ि�हीनता
िनयं�ण के िलए नीित लागू की है?

Ans 1. केरल

2. राज�थान

3. महारा��

4. तिमलनाडु

Question ID : 630680413155
Option 1 ID : 6306801611443
Option 2 ID : 6306801611444
Option 3 ID : 6306801611445
Option 4 ID : 6306801611446

Status : Answered
Chosen Option : 2

Q.3 अ�णाचल �देश के संबंध म� कानून एवं �व�था के संबंध म� और उसके संबंध म� अपने काय� के िनव�हन
म� भारतीय संिवधान के ___________ के तहत रा�पाल की िवशेष िज�ेदारी है।

Ans 1. अनु�ेद 361 H

2. अनु�ेद 380 A

3. अनु�ेद 359 A

4. अनु�ेद 371 H

Question ID : 630680408362
Option 1 ID : 6306801592343
Option 2 ID : 6306801592345
Option 3 ID : 6306801592346
Option 4 ID : 6306801592344

Status : Answered
Chosen Option : 2

Q.4 2011 की जनगणना के अनुसार िन�िल�खत म� से कौन-सा रा� सबसे कम आबादी वाला रा� है?
Ans 1. अ�णाचल �देश

2. आं� �देश

3. केरल

4. ओिडशा

Question ID : 630680409725
Option 1 ID : 6306801597729
Option 2 ID : 6306801597732
Option 3 ID : 6306801597731
Option 4 ID : 6306801597730

Status : Answered
Chosen Option : 1

Q.5 िन�िल�खत म� से कौन सी नदी भारत के तटीय मैदान से संबंिधत नही ंहै?
Ans 1. कावेरी

2. ��पु�

3. कृ�ा

4. महानदी

Question ID : 630680409797
Option 1 ID : 6306801598018
Option 2 ID : 6306801598019
Option 3 ID : 6306801598017
Option 4 ID : 6306801598020

Status : Answered
Chosen Option : 2
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Q.6 2023 म� भारतीय कपास िनगम (CCI) के अ�� और �बंध िनदेशक (CMD) के �प म� िकसे िनयु�
िकया गया है?

Ans 1. कृ��� �ताप िसंह

2. �भात कुमार ि�पाठी

3. लिलत कुमार गु�ा

4. सुशील आर. गायकवाड़

Question ID : 630680413094
Option 1 ID : 6306801611202
Option 2 ID : 6306801611200
Option 3 ID : 6306801611199
Option 4 ID : 6306801611201

Status : Answered
Chosen Option : 1

Q.7 चेराव नृ� िन�िल�खत म� से िकस रा� से संबंिधत है?
Ans 1. िमजोरम

2. उ�राखंड

3. नागाल�ड

4. गुजरात

Question ID : 630680409200
Option 1 ID : 6306801595629
Option 2 ID : 6306801595630
Option 3 ID : 6306801595632
Option 4 ID : 6306801595631

Status : Answered
Chosen Option : 1

Q.8 2011 की जनगणना के अनुसार �ामीण �े�ो ंम� गरीबी रेखा से नीचे के लोगो ंका �ा�िलत �ितशत
िकतना है?

Ans 1. 27.09%

2. 18.90%

3. 25.70%

4. 13.04%

Question ID : 630680409738
Option 1 ID : 6306801597782
Option 2 ID : 6306801597783
Option 3 ID : 6306801597781
Option 4 ID : 6306801597784

Status : Answered
Chosen Option : 3
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Q.9 सड़क प�रवहन और राजमाग� मं�ालय के साथ CPWD, साव�जिनक अवसंरचना के िलए काय� करता है।
CPWD का पूण� �प �ा है?

Ans 1. Central Public Welfare Design (स�ट� ल प��क वेलफेयर िडजाइन)

2. Central Political Welfare Design (स�ट� ल पॉिलिटकल वेलफेयर िडजाइन)

3. Central Public Works Department (स�ट� ल प��क व�� िडपाट�म�ट)

4. Central Public Welfare Department (स�ट� ल प��क वेलफेयर िडपाट�म�ट)

Question ID : 630680409764
Option 1 ID : 6306801597886
Option 2 ID : 6306801597885
Option 3 ID : 6306801597887
Option 4 ID : 6306801597888

Status : Answered
Chosen Option : 4

Q.10 द पीकॉक गाड�न (The Peacock Garden) पु�क की ले�खका िन�िल�खत म� से कौन ह�?
Ans 1. अ�ंधित राय

2. शिश देशपांडे

3. अनीता देसाई

4. इंदु संुदरेसन

Question ID : 630680409371
Option 1 ID : 6306801596314
Option 2 ID : 6306801596315
Option 3 ID : 6306801596313
Option 4 ID : 6306801596316

Status : Answered
Chosen Option : 2

Q.11 एिथलीन (C2H4) म�, काब�न परमाणुओ ंका संकरण �ा है?

Ans 1. sp3d

2. Sp

3. sp3

4. sp2

Question ID : 63068070081
Option 1 ID : 630680270962
Option 2 ID : 630680270964
Option 3 ID : 630680270963
Option 4 ID : 630680270965

Status : Not Answered
Chosen Option : --

Q.12 लॉड� कज�न (Lord Curzon) ने िव�ो�रया मेमो�रयल हॉल के वा�ुकार के �प म� िकसे िनयु� िकया
था?

Ans 1. हब�ट� बेकर (Herbert Baker)

2. हेनरी इरिवन (Henry Irwin)

3. िविलयम एमस�न (William Emerson)

4. रॉबट� िचशो� (Robert Chisholm)

Question ID : 630680409298
Option 1 ID : 6306801596022
Option 2 ID : 6306801596024
Option 3 ID : 6306801596021
Option 4 ID : 6306801596023

Status : Answered
Chosen Option : 1
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Q.13 िन�िल�खत म� से कौन िकसी एक रा� म� सबसे लंबे समय तक मु�मं�ी के पद पर रहने वाला ���
है?

Ans 1. पवन कुमार चामिलंग

2. �ोित बसु

3. गेगोगं अपांग

4. लाल थनहवला

Question ID : 630680408361
Option 1 ID : 6306801592341
Option 2 ID : 6306801592339
Option 3 ID : 6306801592340
Option 4 ID : 6306801592342

Status : Answered
Chosen Option : 1

Q.14 1977 म� यूरोपीय अंत�र� एज�सी �ारा कौन-सा भू��थर मौसम उप�ह ��ेिपत िकया गया था, जो
��मान �काश और अवर� तरंगदै�� दोनो ंपर पृ�ी की मौसम छिवयां �दान करता है?

Ans 1. ��क�ैट (QuikSCAT)

2. मेिटयोसैट (Meteosat)

3. ल�डसैट (Landsat)

4. िहमावरी (Himawari)

Question ID : 630680407399
Option 1 ID : 6306801588535
Option 2 ID : 6306801588537
Option 3 ID : 6306801588536
Option 4 ID : 6306801588534

Status : Answered
Chosen Option : 1

Q.15 राइबोसोम िकससे बने होते ह�?
Ans 1. केवल RNA

2. केवल DNA

3. �ोटीन और RNA

4. केवल �ोटीन

Question ID : 630680407520
Option 1 ID : 6306801589019
Option 2 ID : 6306801589020
Option 3 ID : 6306801589021
Option 4 ID : 6306801589018

Status : Answered
Chosen Option : 4

Q.16 िन�िल�खत म� से िकस गु� स�ाट के शासन काल म� चीनी बौ� तीथ�या�ी फा�ान भारत आया था?
Ans 1. िव�ुगु�

2. चं�गु� ि�तीय

3. घटो�च

4. चं�गु� �थम

Question ID : 630680210799
Option 1 ID : 630680817356
Option 2 ID : 630680817358
Option 3 ID : 630680817355
Option 4 ID : 630680817357

Status : Answered
Chosen Option : 4
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Q.17 रा� िवधान प�रषद के िकतने सद� रा� के भीतर तीन वष� से िनवास करने वाले � नातको ं�ारा चुने
जाते ह�?

Ans
1. 

2. 

3. 

4. 

Question ID : 630680408300
Option 1 ID : 6306801592096
Option 2 ID : 6306801592095
Option 3 ID : 6306801592097
Option 4 ID : 6306801592098

Status : Answered
Chosen Option : 2

Q.18 खानवा की लड़ाई बाबर की सेना और ________ के नेतृ� वाली राजपूत सेना के बीच लड़ी गई थी।
Ans 1. इ�ािहम लोदी

2. महमूद लोदी

3. राणा सांगा

4. मेिदनी राय

Question ID : 630680412565
Option 1 ID : 6306801609083
Option 2 ID : 6306801609086
Option 3 ID : 6306801609085
Option 4 ID : 6306801609084

Status : Answered
Chosen Option : 3

Q.19 शैवाल (समु�ी शैवाल) के आधार पर मौजूद जड़ जैसी संरचना �ा कहलाती है, जो शैवाल को प�र
जैसे िकसी कठोर अव�र से िचपकाकर रखती है?

Ans 1. �ॉ�

2. िमड�रब

3. ��प

4. हो�फ़ा�

Question ID : 630680407592
Option 1 ID : 6306801589307
Option 2 ID : 6306801589309
Option 3 ID : 6306801589308
Option 4 ID : 6306801589306

Status : Answered
Chosen Option : 2

https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1


Q.20 73वाँ संिवधान संशोधन अिधिनयम, 1992 िन� म� से िकससे अिधक जनसं�ा वाले सभी रा�ो ंके िलए
पंचायती राज की 3-�रीय �णाली का �ावधान करता है?

Ans 1. 10 लाख

2. 20 लाख

3. 15 लाख

4. 5 लाख

Question ID : 630680413124
Option 1 ID : 6306801611320
Option 2 ID : 6306801611322
Option 3 ID : 6306801611321
Option 4 ID : 6306801611319

Status : Answered
Chosen Option : 4

Q.21 भारतीय संिवधान का िन�िल�खत म� से कौन-सा अनु�ेद यह लागू करता है िक कानून बनाने म�
िनद�शक िस�ांतो ंको लागू करना रा� का कत�� है?

Ans 1. अनु�ेद 37

2. अनु�ेद 36

3. अनु�ेद 39

4. अनु�ेद 38

Question ID : 630680408326
Option 1 ID : 6306801592200
Option 2 ID : 6306801592199
Option 3 ID : 6306801592202
Option 4 ID : 6306801592201

Status : Answered
Chosen Option : 3

Q.22 टोटल �रकॉल: माई अनिबिलवेबली ��  लाइफ �ोरी (Total Recall: My Unbelievably True Life
Story) पीटर पेट� े के अलावा िन�िल�खत म� से िकसके �ारा िलखी गई थी?

Ans 1. अना�� �ाज�ने�र

2. मै�म X

3. पीट स�ास

4. आं�े अगासी

Question ID : 630680409389
Option 1 ID : 6306801596387
Option 2 ID : 6306801596388
Option 3 ID : 6306801596386
Option 4 ID : 6306801596385

Status : Not Answered
Chosen Option : --
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Q.23 डांग दरबार मेला हर साल िकस भारतीय रा� म� आयोिजत िकया जाता है?
Ans 1. गुजरात

2. राज�थान

3. महारा��

4. म� �देश

Question ID : 630680409241
Option 1 ID : 6306801595794
Option 2 ID : 6306801595793
Option 3 ID : 6306801595795
Option 4 ID : 6306801595796

Status : Answered
Chosen Option : 3

Q.24 1945 म� िशमला स�ेलन आयोिजत होने के समय ि�िटश भारत का वायसराय िन�िल�खत म� से कौन
था?

Ans 1. लॉड� वेवेल (Lord Wavell)

2. लॉड� इरिवन (Lord Irwin)

3. लॉड� िलनिलथगो (Lord Linlithgow)

4. लॉड� िविलंगडन (Lord Willingdon)

Question ID : 630680412535
Option 1 ID : 6306801608963
Option 2 ID : 6306801608966
Option 3 ID : 6306801608964
Option 4 ID : 6306801608965

Status : Answered
Chosen Option : 1

Q.25 िन� म� से कौन से संगीतकार घटम से कना�टक संगीत िनकालते ह�?
Ans 1. केवी �साद

2. रामनाद राघवान

3. अली अकबर खान

4. टीएच िवनायकराम

Question ID : 630680409415
Option 1 ID : 6306801596490
Option 2 ID : 6306801596491
Option 3 ID : 6306801596489
Option 4 ID : 6306801596492

Status : Answered
Chosen Option : 4

Section : Quantitative Aptitude
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Q.1 A और B एक 1,800 m की वृ�ाकार दौड़ म� भाग लेते ह�। A, 24 km/h की गित से और B, 15 km/h की
गित से दौड़ रहा है। यिद दोनो ंएक ही िबंदु से और एक ही समय पर दौड़ना �ारंभ करते ह� और एक ही
िदशा म� दौड़ रहे ह�, तो �ात कीिजए िक वे िफर से िकतने समय म� एक-दूसरे से िमल�गे। (दो दशमलव
अंक तक)

Ans 1. 500 sec

2. 600 sec

3. 720 sec

4. 400 sec

Question ID : 630680116129
Option 1 ID : 630680449848
Option 2 ID : 630680449849
Option 3 ID : 630680449846
Option 4 ID : 630680449847

Status : Not Answered
Chosen Option : --

Q.2

Ans 1. 

2. 

3. 

4. 

Question ID : 630680413628
Option 1 ID : 6306801613336
Option 2 ID : 6306801613338
Option 3 ID : 6306801613339
Option 4 ID : 6306801613337

Status : Not Answered
Chosen Option : --

Q.3

Ans 1. 6

2. 7

3. 5

4. 8

Question ID : 630680428333
Option 1 ID : 6306801671378
Option 2 ID : 6306801671377
Option 3 ID : 6306801671376
Option 4 ID : 6306801671379

Status : Not Answered
Chosen Option : --
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Q.4 यिद 379843 को 3 से भाग िदया जाए तो वा�िवक िवभाजन के िबना ही शेषफल �ात कीिजए।
Ans 1. 1

2. 4

3. 2

4. 3

Question ID : 630680103603
Option 1 ID : 630680402655
Option 2 ID : 630680402658
Option 3 ID : 630680402656
Option 4 ID : 630680402657

Status : Answered
Chosen Option : 1

Q.5

Ans 1. 3

2. 1

3. 2

4. 0

Question ID : 630680182037
Option 1 ID : 630680705373
Option 2 ID : 630680705371
Option 3 ID : 630680705372
Option 4 ID : 630680705370

Status : Not Answered
Chosen Option : --

Q.6 400 m की एक दौड़ म� भीम ने दौड़ की शु�आत म� सरल को 20 m से बढ़त िदलाई। सरल ने दौड़ पूरी
करने म� 48 सेक� ड का समय िलया। यिद सरल ने भीम को 2 सेकंड के अंतर से हरा िदया, तो भीम की
गित (m/s म�) �ा थी?

Ans 1. 8

2. 8.7

3. 7.4

4. 7.6

Question ID : 630680428929
Option 1 ID : 6306801673761
Option 2 ID : 6306801673763
Option 3 ID : 6306801673762
Option 4 ID : 6306801673760

Status : Not Answered
Chosen Option : --



Q.7

Ans 1. 11598.67 cm3

2. 11478.67 cm3

3. 11488.67 cm3

4. 11498.67 cm3

Question ID : 630680421591
Option 1 ID : 6306801644830
Option 2 ID : 6306801644827
Option 3 ID : 6306801644828
Option 4 ID : 6306801644829

Status : Not Answered
Chosen Option : --

Q.8 एक समि�बा� ΔLMN म�, LM = LN, और 

ס

MLN = 37° है। 

ס

MNL को �ात कीिजए।
Ans 1. 71.5°

2. 65.0°

3. 70.0°

4. 60.5°

Question ID : 630680421524
Option 1 ID : 6306801644562
Option 2 ID : 6306801644560
Option 3 ID : 6306801644561
Option 4 ID : 6306801644559

Status : Not Answered
Chosen Option : --

Q.9

Ans 1. 28.5% कम

2. 25.5% अिधक

3. 28.5% अिधक

4. 25.5% कम

Question ID : 630680855988
Option 1 ID : 6306803352661
Option 2 ID : 6306803352659
Option 3 ID : 6306803352658
Option 4 ID : 6306803352660

Status : Answered
Chosen Option : 1
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Q.10 रामू और रिव की वत�मान आयु का अनुपात 4 : 3 है। 5 वष� बाद उनकी आयु का अनुपात 5 : 4 हो
जाएगा। उनकी वत�मान आयु �मशः  �ात कीिजए।

Ans 1. 15 वष�, 12 वष�

2. 15 वष�, 20 वष�

3. 10 वष�, 15 वष�

4. 20 वष�, 15 वष�

Question ID : 630680428575
Option 1 ID : 6306801672347
Option 2 ID : 6306801672346
Option 3 ID : 6306801672345
Option 4 ID : 6306801672344

Status : Answered
Chosen Option : 4

Q.11 एक बैग म� ₹5 और ₹1 मू�वग� के कुल 180 िस�े ह�। बैग म� ₹5 के िस�ो ंकी सं�ा �ात कीिजए,
यिद िस�ो ंका कुल मू� ₹500 है।

Ans 1. 120

2. 80

3. 100

4. 60

Question ID : 630680428830
Option 1 ID : 6306801673367
Option 2 ID : 6306801673364
Option 3 ID : 6306801673365
Option 4 ID : 6306801673366

Status : Not Answered
Chosen Option : --

Q.12 A और B अलग-अलग काय� करते �ए एक काय� को �मशः  15 िदनो ंऔर 18 िदनो ंम� पूरा कर सकते ह�।
यिद A काय� शु� करता है और वे ��ेक िदन बारी-बारी से एक-एक करके एकांतर िदनो ंम� काय� करते
ह�, तो काय� िकतने िदनो ंम� पूरा होगा?

Ans
1. 

2. 

3. 

4. 

Question ID : 630680428511
Option 1 ID : 6306801672088
Option 2 ID : 6306801672091
Option 3 ID : 6306801672090
Option 4 ID : 6306801672089

Status : Answered
Chosen Option : 2
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Q.13 A एक काय� को 4 िदनो ंम� पूरा करता है और B इसे 6 िदनो ंम� पूरा करता है। यिद वे दोनो ंएक साथ काय�
कर� , तो उसी काय� को पूरा करने म� िकतना समय लगेगा?

Ans
1. 

2. 

3. 

4. 

Question ID : 630680427941
Option 1 ID : 6306801669809
Option 2 ID : 6306801669810
Option 3 ID : 6306801669811
Option 4 ID : 6306801669808

Status : Answered
Chosen Option : 1

Q.14

Ans 1. 1.000

2. 0.005

3. 1.525

4. 0.001

Question ID : 630680413598
Option 1 ID : 6306801613218
Option 2 ID : 6306801613217
Option 3 ID : 6306801613219
Option 4 ID : 6306801613216

Status : Not Answered
Chosen Option : --

Q.15 यिद िकसी सं�ा के 50% का 45%, 27 है, तो सं�ा �ात कर�।
Ans 1. 180

2. 150

3. 120

4. 160

Question ID : 630680429006
Option 1 ID : 6306801674070
Option 2 ID : 6306801674068
Option 3 ID : 6306801674069
Option 4 ID : 6306801674071

Status : Answered
Chosen Option : 3
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Q.16

Ans 1. 97

2. 96

3. 92

4. 95

Question ID : 630680428159
Option 1 ID : 6306801670682
Option 2 ID : 6306801670683
Option 3 ID : 6306801670681
Option 4 ID : 6306801670680

Status : Answered
Chosen Option : 1

Q.17 सुकृत ने एक व�ु ₹650 म� खरीदी और उसे 26% लाभ पर बेच िदया। सुकृत ने व�ु िकस मू� पर (₹
म�) बेची?

Ans 1. 813

2. 823

3. 829

4. 819

Question ID : 630680428460
Option 1 ID : 6306801671886
Option 2 ID : 6306801671885
Option 3 ID : 6306801671884
Option 4 ID : 6306801671887

Status : Answered
Chosen Option : 4

Q.18 एक िव�ेता ₹250 अंिकत मू� की एक व�ु खरीदता है तथा 12% और 16% की �िमक छूट� �ा�
करता है। वह �य मू� का 10% प�रवहन पर खच� करता है। 25% का लाभ अिज�त करने के िलए उसे
व�ु को िकस कीमत पर बेचना चािहए? (ठीक दो दशमलव �थान तक)

Ans 1. ₹274.10

2. ₹254.10

3. ₹264.10

4. ₹244.10

Question ID : 630680428836
Option 1 ID : 6306801673391
Option 2 ID : 6306801673389
Option 3 ID : 6306801673390
Option 4 ID : 6306801673388

Status : Not Answered
Chosen Option : --
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Q.19

Ans
1. 

2. 

3. 

4. 

Question ID : 630680151956
Option 1 ID : 630680587871
Option 2 ID : 630680587870
Option 3 ID : 630680587869
Option 4 ID : 630680587868

Status : Not Answered
Chosen Option : --

Q.20 9, 7, ?, 14 का तृतीयानुपाती �ात कर�।
Ans 1. 21

2. 18

3. 24

4. 16

Question ID : 630680428995
Option 1 ID : 6306801674026
Option 2 ID : 6306801674025
Option 3 ID : 6306801674027
Option 4 ID : 6306801674024

Status : Not Answered
Chosen Option : --

Q.21 10 ���यो ंका औसत वजन 3.5 kg बढ़ जाता है, जब उनम� से 45.5 kg वजन वाले एक � य�� त के
�थान पर एक नया � य�� त ले िलया जाता है। नए � य�� त का वजन (kg म�) ___ है।

Ans 1. 80.5

2. 85.5

3. 70.5

4. 75.5

Question ID : 630680428070
Option 1 ID : 6306801670326
Option 2 ID : 6306801670327
Option 3 ID : 6306801670324
Option 4 ID : 6306801670325

Status : Not Answered
Chosen Option : --
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Q.22 ₹15,000 पर 7% वािष�क की दर से 3 वष� के िलए साधारण �ाज �ात कीिजए।
Ans 1. ₹3,000

2. ₹3,120

3. ₹3,100

4. ₹3,150

Question ID : 630680428472
Option 1 ID : 6306801671935
Option 2 ID : 6306801671933
Option 3 ID : 6306801671932
Option 4 ID : 6306801671934

Status : Answered
Chosen Option : 4

Q.23 रामा�ा अपने वेतन का 22% घर के िकराए पर और शेष का 75% घरेलू � यय पर खच� करता है। यिद वह
₹3,705 की बचत करता है, तो उसकी कुल आय (�पये म�) �ात कर�।

Ans 1. ₹17,000

2. ₹21,000

3. ₹18,000

4. ₹19,000

Question ID : 630680428290
Option 1 ID : 6306801671204
Option 2 ID : 6306801671207
Option 3 ID : 6306801671205
Option 4 ID : 6306801671206

Status : Answered
Chosen Option : 2

Q.24

Ans 1. 2.5 िबिलयन

2. 3 िबिलयन

3. 1.5 िबिलयन

4. 2 िबिलयन

Question ID : 630680428625
Option 1 ID : 6306801672545
Option 2 ID : 6306801672546
Option 3 ID : 6306801672544
Option 4 ID : 6306801672547

Status : Answered
Chosen Option : 4
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Q.25 लॉकडाउन के दौरान एक रा� सरकार एक प�रवार के ��ेक ��� को ₹40 �ित kg के �य मू� पर
4.5 kg चावल देती है। लेिकन िवतरक 4.5 kg की जगह 3.75 kg के गलत वजन पर चावल िवत�रत
करता है। बचे �ए चावल को दोगुने दामो ंपर �ैक माक� ट म� बेच िदया गया। उसने सरकार को िदखाया
िक वह 2700 kg चावल िवत�रत िकया है। पकड़े जाने पर उसे �ैक माक� ट म� अिज�त की गई रािश का
125% जुमा�ना देना पड़ा। उसकी जुमा�ना रािश �ा थी?

Ans 1. ₹28,000

2. ₹54,000

3. ₹45,000

4. ₹36,000

Question ID : 630680196285
Option 1 ID : 630680761520
Option 2 ID : 630680761522
Option 3 ID : 630680761521
Option 4 ID : 630680761519

Status : Not Answered
Chosen Option : --

Q.1 Select the correct spelling of the underlined word in the following sentence.
The divide between the upper class and the lower class is jixtaposed in this play.

Ans 1. Juxtaposed

2. Jextaposed

3. Juxtapused

4. Juxtapoised

Question ID : 630680409896
Option 1 ID : 6306801598416
Option 2 ID : 6306801598413
Option 3 ID : 6306801598415
Option 4 ID : 6306801598414

Status : Answered
Chosen Option : 1

Q.2 Select the option that can be used as a one-word substitute for the given group of
words.

Great tiredness
Ans 1. Fatigue

2. Rejuvenation

3. Potent

4. Vigour

Question ID : 630680414858
Option 1 ID : 6306801618175
Option 2 ID : 6306801618178
Option 3 ID : 6306801618176
Option 4 ID : 6306801618177

Status : Answered
Chosen Option : 1

Section : English Language
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Q.3 Select the option that expresses the given sentence in active voice.

The room will have been cleaned by the servant.
Ans 1. The servant will have clean the room.

2. The servant will clean the room.

3. The servant should clean the room.

4. The servant will have cleaned the room.

Question ID : 630680415492
Option 1 ID : 6306801620716
Option 2 ID : 6306801620715
Option 3 ID : 6306801620717
Option 4 ID : 6306801620718

Status : Answered
Chosen Option : 4

Q.4 Select the most appropriate option to substitute the underlined segment in the given
sentence.

We have been at fours and fives in the office due to network issues.
Ans 1. At nines and tens

2. At eights and nines 

3. At threes and fours

4. At sixes and sevens 

Question ID : 630680410088
Option 1 ID : 6306801599184
Option 2 ID : 6306801599182
Option 3 ID : 6306801599183
Option 4 ID : 6306801599181

Status : Answered
Chosen Option : 4

Q.5 Select the most appropriate idiom that can substitute the underlined words in the
given sentence.
I know you’re blaming me for all that has happened but I wasn’t at fault alone.

Ans 1. it takes two to tango

2. it is always darkest before the dawn 

3. make hay while the sun shines 

4. leave no stone unturned 

Question ID : 630680183587
Option 1 ID : 630680711357
Option 2 ID : 630680711358
Option 3 ID : 630680711360
Option 4 ID : 630680711359

Status : Answered
Chosen Option : 1
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Q.6 Select the option that can be used as a one-word substitute for the given group of
words.

A system of government by one person with absolute power
Ans 1. Democracy

2. Anarchy

3. Bureaucracy

4. Autocracy

Question ID : 630680414860
Option 1 ID : 6306801618184
Option 2 ID : 6306801618183
Option 3 ID : 6306801618186
Option 4 ID : 6306801618185

Status : Answered
Chosen Option : 4

Q.7 Select the option that expresses the following sentence in passive voice.
The reviewer gave a dazzling review of the restaurant, which then went viral.

Ans 1. It went viral when the reviewer gave a dazzling review of the restaurant.

2. A dazzling review of the restaurant is given by the reviewer, which then went viral.

3. The reviewer was given a dazzling review to the restaurant, which then had gone viral

4. A dazzling review of the restaurant was given by the reviewer, which then went viral.

Question ID : 630680415316
Option 1 ID : 6306801620011
Option 2 ID : 6306801620013
Option 3 ID : 6306801620014
Option 4 ID : 6306801620012

Status : Answered
Chosen Option : 4

Q.8 Select the option that expresses the given sentence in indirect speech.

He told me, “I will call you later.”
Ans 1. He told me I would call me later.

2. He told he can call me later.

3. He told me that he would call me later.

4. He told you call me later.

Question ID : 630680415235
Option 1 ID : 6306801619688
Option 2 ID : 6306801619689
Option 3 ID : 6306801619687
Option 4 ID : 6306801619690

Status : Answered
Chosen Option : 3
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Q.9 Select the option that can be used as a one-word substitute for the given group of
words.

The science of teaching
Ans 1. Astrology

2. Pedagogy 

3. Zoology

4. Technology 

Question ID : 630680414849
Option 1 ID : 6306801618140
Option 2 ID : 6306801618141
Option 3 ID : 6306801618142
Option 4 ID : 6306801618139

Status : Answered
Chosen Option : 2

Q.10 Select the option that expresses the following sentence in passive voice.
Let’s recall the chapter once again.

Ans 1. Let the chapter being recalled once again by us.

2. Let the chapter is recalled once again by us.

3. Let the chapter is being recalled once again by us

4. Let the chapter be recalled once again by us.

Question ID : 630680415325
Option 1 ID : 6306801620047
Option 2 ID : 6306801620049
Option 3 ID : 6306801620050
Option 4 ID : 6306801620048

Status : Answered
Chosen Option : 4

Q.11 Select the most appropriate idiom that can substitute the underlined words in the
given sentence.
Sharon doing the work all by herself? Seems like it is possible, but is very unlikely to
happen.

Ans 1. a piece of cake

2. a bad egg

3. bent out of shape

4. pie in the sky

Question ID : 630680183588
Option 1 ID : 630680711363
Option 2 ID : 630680711361
Option 3 ID : 630680711362
Option 4 ID : 630680711364

Status : Answered
Chosen Option : 4
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Q.12 Parts of the following sentence have been given as options. Select the option that
contains an error.
Can we make sure we have a lots of fun on the trip?

Ans 1. a lots of fun

2. sure we have

3. Can we make

4. on the trip?

Question ID : 630680415278
Option 1 ID : 6306801619861
Option 2 ID : 6306801619860
Option 3 ID : 6306801619859
Option 4 ID : 6306801619862

Status : Answered
Chosen Option : 1

Q.13 Parts of the following sentences have been given as options. Select the option that
contains an error.

Paul and I played tennis yesterday. He’s much better than me, so he win easily.
Ans 1. So he win easily

2. He’s much better than me

3. Paul and I

4. Played tennis yesterday

Question ID : 630680751018
Option 1 ID : 6306802943505
Option 2 ID : 6306802943504
Option 3 ID : 6306802943502
Option 4 ID : 6306802943503

Status : Answered
Chosen Option : 2

Q.14 In the following sentence, four words have been underlined, out of which one word is
MISSPELT. Select the option with the MISSPELT word.
The maintainance staff of the heritage hotel have decided to go on a strike from next
Wednesday.

Ans 1. heritage

2. strike

3. decided

4. maintainance

Question ID : 630680409953
Option 1 ID : 6306801598642
Option 2 ID : 6306801598644
Option 3 ID : 6306801598643
Option 4 ID : 6306801598641

Status : Answered
Chosen Option : 4



Q.15 Select the most appropriate option that can substitute the underlined word in the
following sentence with its ANTONYM.

The moment our English Instructor said the final paper is going to be tough, it was
music to my ears!

Ans 1. durable

2. peculiar

3. resolvable

4. unpredictable

Question ID : 630680410021
Option 1 ID : 6306801598913
Option 2 ID : 6306801598914
Option 3 ID : 6306801598916
Option 4 ID : 6306801598915

Status : Answered
Chosen Option : 2

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Smoking is the leading cause of death from bronchogenic carcinoma of the lungs, as well as
a cause of death from larynx, oral cavity, oesophagus, bladder, kidney, pancreas, stomach,
uterine cervix and coronary heart disease. Nicotine is the (1)_______ addictive component of
tobacco smoke. The additives, too, cause (2)_______ to the body; for example, ammonia can
result in a 100-fold increase in nicotine's (3)_________ to enter the nose. Nicotine's 'kick' can
be amplified by levulinic acid, an additive used to conceal the nicotine's harsh taste, by
(4)________ the binding of nicotine to brain receptors. More than four thousand compounds
and more than forty known carcinogens are found in cigarette smoke. Tobacco smoke has
been well (5)______ as a proven carcinogen and cancer cause for many years.

SubQuestion No : 16
Q.16 Select the most appropriate option to fill in blank no. 1.
Ans 1. secondary 

2. minor

3. primary 

4. trivial

Question ID : 630680404815
Option 1 ID : 6306801578756
Option 2 ID : 6306801578757
Option 3 ID : 6306801578755
Option 4 ID : 6306801578758

Status : Answered
Chosen Option : 3
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Smoking is the leading cause of death from bronchogenic carcinoma of the lungs, as well as
a cause of death from larynx, oral cavity, oesophagus, bladder, kidney, pancreas, stomach,
uterine cervix and coronary heart disease. Nicotine is the (1)_______ addictive component of
tobacco smoke. The additives, too, cause (2)_______ to the body; for example, ammonia can
result in a 100-fold increase in nicotine's (3)_________ to enter the nose. Nicotine's 'kick' can
be amplified by levulinic acid, an additive used to conceal the nicotine's harsh taste, by
(4)________ the binding of nicotine to brain receptors. More than four thousand compounds
and more than forty known carcinogens are found in cigarette smoke. Tobacco smoke has
been well (5)______ as a proven carcinogen and cancer cause for many years.

SubQuestion No : 17
Q.17 Select the most appropriate option to fill in blank no. 2.
Ans 1. cure 

2. benefit

3. favour

4. harm 

Question ID : 630680404816
Option 1 ID : 6306801578759
Option 2 ID : 6306801578762
Option 3 ID : 6306801578761
Option 4 ID : 6306801578760

Status : Answered
Chosen Option : 4

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Smoking is the leading cause of death from bronchogenic carcinoma of the lungs, as well as
a cause of death from larynx, oral cavity, oesophagus, bladder, kidney, pancreas, stomach,
uterine cervix and coronary heart disease. Nicotine is the (1)_______ addictive component of
tobacco smoke. The additives, too, cause (2)_______ to the body; for example, ammonia can
result in a 100-fold increase in nicotine's (3)_________ to enter the nose. Nicotine's 'kick' can
be amplified by levulinic acid, an additive used to conceal the nicotine's harsh taste, by
(4)________ the binding of nicotine to brain receptors. More than four thousand compounds
and more than forty known carcinogens are found in cigarette smoke. Tobacco smoke has
been well (5)______ as a proven carcinogen and cancer cause for many years.

SubQuestion No : 18
Q.18 Select the most appropriate option to fill in blank no. 3.
Ans 1. deficiency

2. capacity 

3. limitation 

4. inability

Question ID : 630680404817
Option 1 ID : 6306801578766
Option 2 ID : 6306801578764
Option 3 ID : 6306801578763
Option 4 ID : 6306801578765

Status : Answered
Chosen Option : 2
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Smoking is the leading cause of death from bronchogenic carcinoma of the lungs, as well as
a cause of death from larynx, oral cavity, oesophagus, bladder, kidney, pancreas, stomach,
uterine cervix and coronary heart disease. Nicotine is the (1)_______ addictive component of
tobacco smoke. The additives, too, cause (2)_______ to the body; for example, ammonia can
result in a 100-fold increase in nicotine's (3)_________ to enter the nose. Nicotine's 'kick' can
be amplified by levulinic acid, an additive used to conceal the nicotine's harsh taste, by
(4)________ the binding of nicotine to brain receptors. More than four thousand compounds
and more than forty known carcinogens are found in cigarette smoke. Tobacco smoke has
been well (5)______ as a proven carcinogen and cancer cause for many years.

SubQuestion No : 19
Q.19 Select the most appropriate option to fill in blank no. 4.
Ans 1. increasing 

2. reducing 

3. decreasing 

4. diminishing

Question ID : 630680404818
Option 1 ID : 6306801578770
Option 2 ID : 6306801578768
Option 3 ID : 6306801578769
Option 4 ID : 6306801578767

Status : Answered
Chosen Option : 1

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Smoking is the leading cause of death from bronchogenic carcinoma of the lungs, as well as
a cause of death from larynx, oral cavity, oesophagus, bladder, kidney, pancreas, stomach,
uterine cervix and coronary heart disease. Nicotine is the (1)_______ addictive component of
tobacco smoke. The additives, too, cause (2)_______ to the body; for example, ammonia can
result in a 100-fold increase in nicotine's (3)_________ to enter the nose. Nicotine's 'kick' can
be amplified by levulinic acid, an additive used to conceal the nicotine's harsh taste, by
(4)________ the binding of nicotine to brain receptors. More than four thousand compounds
and more than forty known carcinogens are found in cigarette smoke. Tobacco smoke has
been well (5)______ as a proven carcinogen and cancer cause for many years.

SubQuestion No : 20
Q.20 Select the most appropriate option to fill in blank no. 5.
Ans 1. neglected

2. behaved

3. misread

4. recognised 

Question ID : 630680404819
Option 1 ID : 6306801578771
Option 2 ID : 6306801578774
Option 3 ID : 6306801578772
Option 4 ID : 6306801578773

Status : Answered
Chosen Option : 4
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Comprehension:
Read the given passage and answer the questions that follow.
Superstitions are a universal phenomenon having their own peculiar place in the cultural
ethos and milieu of a people. They epitomise man’s fear of the unknown, fear of evil, blind
faith in omens and portents. Superstitions are interwoven with myth, legend, unnatural
phenomena and disaster, customs and traditions, and are mainly the outcome of ignorance.
They are unreasonable and irrational beliefs that gradually become matters of faith. When
certain things and happenings are rationally inexplicable, people tend to assign mysterious
and supernatural reasons for their operation. Thus, a natural disaster is explained in terms of
God’s wrath and the failure of one’s project is assigned to the black cat which crossed the
path just as one set out on the errand.
The primitive human beings were mainly governed by superstitions. Superstitions were
widespread before the dawn of civilisation when science had not advanced. Thus, ignorance
of the primitive people and the resultant growth of superstitions were the direct outcomes of
the lack of scientific advancement. Unenlightened people always tend to be superstitious. The
belief in the sanctity of time and old traditions of the ancestors bind the people into knots of
superstitious thought. Besides, the unscrupulous priests and religious officials exercise a
dominating, unhealthy effect upon the people believing in religious orthodoxy. They
encourage superstitions for their own ulterior motives.
Superstitions are not only universally prevalent but even have strikingly common features
whether believed in India or in as far off a place as Canada. There are some common
superstitions which are shared by people all over the world. Beliefs in spirits, ghosts and
witches and reincarnation are quite common among all the peoples of the world. Belief in
witches still prevails in India, France, Scotland, England, and many other countries. In
countries of the East, especially in India, belief in ghosts and spirits still exists. The cries of
certain birds like owls and ravens and the howl of cats are regarded with superstition as
portents of evil throughout the world. Then there is a very common belief that the sighting of
comets portends the death of kings or great men or some unforeseen catastrophe.
Shakespeare refers to such a superstition in his play/tragedy, Julius Caesar. Halley’s Comet
in the twentieth century evoked a similar response in many a mind.

SubQuestion No : 21
Q.21 What does the phrase ‘religious orthodoxy’ mean?
Ans 1. The modern beliefs of a social group

2. The traditional beliefs of a religious group

3. The advanced beliefs of a political group

4. The western beliefs of a business group

Question ID : 630680406817
Option 1 ID : 6306801586371
Option 2 ID : 6306801586370
Option 3 ID : 6306801586372
Option 4 ID : 6306801586373

Status : Answered
Chosen Option : 2
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Comprehension:
Read the given passage and answer the questions that follow.
Superstitions are a universal phenomenon having their own peculiar place in the cultural
ethos and milieu of a people. They epitomise man’s fear of the unknown, fear of evil, blind
faith in omens and portents. Superstitions are interwoven with myth, legend, unnatural
phenomena and disaster, customs and traditions, and are mainly the outcome of ignorance.
They are unreasonable and irrational beliefs that gradually become matters of faith. When
certain things and happenings are rationally inexplicable, people tend to assign mysterious
and supernatural reasons for their operation. Thus, a natural disaster is explained in terms of
God’s wrath and the failure of one’s project is assigned to the black cat which crossed the
path just as one set out on the errand.
The primitive human beings were mainly governed by superstitions. Superstitions were
widespread before the dawn of civilisation when science had not advanced. Thus, ignorance
of the primitive people and the resultant growth of superstitions were the direct outcomes of
the lack of scientific advancement. Unenlightened people always tend to be superstitious. The
belief in the sanctity of time and old traditions of the ancestors bind the people into knots of
superstitious thought. Besides, the unscrupulous priests and religious officials exercise a
dominating, unhealthy effect upon the people believing in religious orthodoxy. They
encourage superstitions for their own ulterior motives.
Superstitions are not only universally prevalent but even have strikingly common features
whether believed in India or in as far off a place as Canada. There are some common
superstitions which are shared by people all over the world. Beliefs in spirits, ghosts and
witches and reincarnation are quite common among all the peoples of the world. Belief in
witches still prevails in India, France, Scotland, England, and many other countries. In
countries of the East, especially in India, belief in ghosts and spirits still exists. The cries of
certain birds like owls and ravens and the howl of cats are regarded with superstition as
portents of evil throughout the world. Then there is a very common belief that the sighting of
comets portends the death of kings or great men or some unforeseen catastrophe.
Shakespeare refers to such a superstition in his play/tragedy, Julius Caesar. Halley’s Comet
in the twentieth century evoked a similar response in many a mind.

SubQuestion No : 22
Q.22 According to the passage, which of the following is NOT regarded as a superstition by

people?
Ans 1. Howling of cats

2. Sighting of comets

3. Crossing of path by black cat

4. Cries of children

Question ID : 630680406814
Option 1 ID : 6306801586359
Option 2 ID : 6306801586360
Option 3 ID : 6306801586358
Option 4 ID : 6306801586361

Status : Answered
Chosen Option : 4
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Comprehension:
Read the given passage and answer the questions that follow.
Superstitions are a universal phenomenon having their own peculiar place in the cultural
ethos and milieu of a people. They epitomise man’s fear of the unknown, fear of evil, blind
faith in omens and portents. Superstitions are interwoven with myth, legend, unnatural
phenomena and disaster, customs and traditions, and are mainly the outcome of ignorance.
They are unreasonable and irrational beliefs that gradually become matters of faith. When
certain things and happenings are rationally inexplicable, people tend to assign mysterious
and supernatural reasons for their operation. Thus, a natural disaster is explained in terms of
God’s wrath and the failure of one’s project is assigned to the black cat which crossed the
path just as one set out on the errand.
The primitive human beings were mainly governed by superstitions. Superstitions were
widespread before the dawn of civilisation when science had not advanced. Thus, ignorance
of the primitive people and the resultant growth of superstitions were the direct outcomes of
the lack of scientific advancement. Unenlightened people always tend to be superstitious. The
belief in the sanctity of time and old traditions of the ancestors bind the people into knots of
superstitious thought. Besides, the unscrupulous priests and religious officials exercise a
dominating, unhealthy effect upon the people believing in religious orthodoxy. They
encourage superstitions for their own ulterior motives.
Superstitions are not only universally prevalent but even have strikingly common features
whether believed in India or in as far off a place as Canada. There are some common
superstitions which are shared by people all over the world. Beliefs in spirits, ghosts and
witches and reincarnation are quite common among all the peoples of the world. Belief in
witches still prevails in India, France, Scotland, England, and many other countries. In
countries of the East, especially in India, belief in ghosts and spirits still exists. The cries of
certain birds like owls and ravens and the howl of cats are regarded with superstition as
portents of evil throughout the world. Then there is a very common belief that the sighting of
comets portends the death of kings or great men or some unforeseen catastrophe.
Shakespeare refers to such a superstition in his play/tragedy, Julius Caesar. Halley’s Comet
in the twentieth century evoked a similar response in many a mind.

SubQuestion No : 23
Q.23 Which of the following statements is INCORRECT according to the passage?
Ans 1. Superstitions are rational beliefs.

2. Superstitions are also prevailing in Canada.

3. Superstitions are a universal phenomenon.

4. A natural disaster is regarded as a god’s wrath by superstitious people.

Question ID : 630680406813
Option 1 ID : 6306801586357
Option 2 ID : 6306801586355
Option 3 ID : 6306801586354
Option 4 ID : 6306801586356

Status : Answered
Chosen Option : 2
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Comprehension:
Read the given passage and answer the questions that follow.
Superstitions are a universal phenomenon having their own peculiar place in the cultural
ethos and milieu of a people. They epitomise man’s fear of the unknown, fear of evil, blind
faith in omens and portents. Superstitions are interwoven with myth, legend, unnatural
phenomena and disaster, customs and traditions, and are mainly the outcome of ignorance.
They are unreasonable and irrational beliefs that gradually become matters of faith. When
certain things and happenings are rationally inexplicable, people tend to assign mysterious
and supernatural reasons for their operation. Thus, a natural disaster is explained in terms of
God’s wrath and the failure of one’s project is assigned to the black cat which crossed the
path just as one set out on the errand.
The primitive human beings were mainly governed by superstitions. Superstitions were
widespread before the dawn of civilisation when science had not advanced. Thus, ignorance
of the primitive people and the resultant growth of superstitions were the direct outcomes of
the lack of scientific advancement. Unenlightened people always tend to be superstitious. The
belief in the sanctity of time and old traditions of the ancestors bind the people into knots of
superstitious thought. Besides, the unscrupulous priests and religious officials exercise a
dominating, unhealthy effect upon the people believing in religious orthodoxy. They
encourage superstitions for their own ulterior motives.
Superstitions are not only universally prevalent but even have strikingly common features
whether believed in India or in as far off a place as Canada. There are some common
superstitions which are shared by people all over the world. Beliefs in spirits, ghosts and
witches and reincarnation are quite common among all the peoples of the world. Belief in
witches still prevails in India, France, Scotland, England, and many other countries. In
countries of the East, especially in India, belief in ghosts and spirits still exists. The cries of
certain birds like owls and ravens and the howl of cats are regarded with superstition as
portents of evil throughout the world. Then there is a very common belief that the sighting of
comets portends the death of kings or great men or some unforeseen catastrophe.
Shakespeare refers to such a superstition in his play/tragedy, Julius Caesar. Halley’s Comet
in the twentieth century evoked a similar response in many a mind.

SubQuestion No : 24
Q.24 What does ‘unenlightened’ mean in the context of the given passage?
Ans 1. A very delighted person

2. An intellectual human being

3. Perfect knowledge of something

4. Lack of necessary knowledge

Question ID : 630680406816
Option 1 ID : 6306801586367
Option 2 ID : 6306801586369
Option 3 ID : 6306801586366
Option 4 ID : 6306801586368

Status : Answered
Chosen Option : 4
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Comprehension:
Read the given passage and answer the questions that follow.
Superstitions are a universal phenomenon having their own peculiar place in the cultural
ethos and milieu of a people. They epitomise man’s fear of the unknown, fear of evil, blind
faith in omens and portents. Superstitions are interwoven with myth, legend, unnatural
phenomena and disaster, customs and traditions, and are mainly the outcome of ignorance.
They are unreasonable and irrational beliefs that gradually become matters of faith. When
certain things and happenings are rationally inexplicable, people tend to assign mysterious
and supernatural reasons for their operation. Thus, a natural disaster is explained in terms of
God’s wrath and the failure of one’s project is assigned to the black cat which crossed the
path just as one set out on the errand.
The primitive human beings were mainly governed by superstitions. Superstitions were
widespread before the dawn of civilisation when science had not advanced. Thus, ignorance
of the primitive people and the resultant growth of superstitions were the direct outcomes of
the lack of scientific advancement. Unenlightened people always tend to be superstitious. The
belief in the sanctity of time and old traditions of the ancestors bind the people into knots of
superstitious thought. Besides, the unscrupulous priests and religious officials exercise a
dominating, unhealthy effect upon the people believing in religious orthodoxy. They
encourage superstitions for their own ulterior motives.
Superstitions are not only universally prevalent but even have strikingly common features
whether believed in India or in as far off a place as Canada. There are some common
superstitions which are shared by people all over the world. Beliefs in spirits, ghosts and
witches and reincarnation are quite common among all the peoples of the world. Belief in
witches still prevails in India, France, Scotland, England, and many other countries. In
countries of the East, especially in India, belief in ghosts and spirits still exists. The cries of
certain birds like owls and ravens and the howl of cats are regarded with superstition as
portents of evil throughout the world. Then there is a very common belief that the sighting of
comets portends the death of kings or great men or some unforeseen catastrophe.
Shakespeare refers to such a superstition in his play/tragedy, Julius Caesar. Halley’s Comet
in the twentieth century evoked a similar response in many a mind.

SubQuestion No : 25
Q.25 Superstitions are mainly the outcomes of _____________.
Ans 1. knowledge

2. belief

3. learning

4. ignorance

Question ID : 630680406815
Option 1 ID : 6306801586362
Option 2 ID : 6306801586363
Option 3 ID : 6306801586365
Option 4 ID : 6306801586364

Status : Answered
Chosen Option : 4
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